EXCLMF‘C 1: L.e:f ‘/ Le o Sl'r\jfe oLsexvacHan
From an expon (ﬁ) distri buhion . Find the

MP test of HO: ‘3:\ VS. quﬁ-TZ
l/\tk\linj o(.:‘OS‘_




Evample 2: | ot 1, ..., Ts 8 Pois (). Find Hhe

MP +est of Ho: A=1 vs. Ha: A=3 Aqv.’nj
K as close as Fossilole. t 0.05




Theorem: et Y.).../‘/n be td Grom F,[_p
‘F(H)e) ard let U be a sufficient
statistic. Then the RR of +he MP dest
O‘F Ho:ezeo VS. Hq‘9=9¢ Je,re,mls [5Y u

F\"O O'? ¢




Un}‘('\ormly MOS“' Fower‘QJJ T€S+S

..-Su_FFose we. Pe,r\%rm ‘Hm& S I [e_-VS.-—CoM osi‘fe
test of F :

(aSSumin_S -\—\\a distributon 1s com letely, < I'F;c’
except for 8) ey e

P_?ip_"‘.f A test s uni-porml7 most Fow&r&l
(UMP) if +he RR of the MP test of
He: =06, vs. Ha: ©6=6. (wLe,re 94>90)
Onl\/ Jerenols on B, (ho‘l' e&)) and Hhaus He
test 1s MP L any choice of Ba (>eo).

K mMmay be Sl'milquy Fosg,'ue To 'pmo" a
UMP test of H : 0=g, vs. Ha: ©<6,.

Exqm!,\e 1: Let \/i)Yz Le . Rayle_.jl\ rV.'s
I/\Q.ans POl'P

-4/,
4(3):{%6 s 37

O elsewhere

Find +he UMP 4est of H:0=] s, Ha'® >
l«\qvinj o« = 0.05 .




~The MP test will have RR of +he Lrm



Example Z: I Y Y H N(K, ) with

un known M and  known cr’-) +hen EXQ.MFM
10.23 of +the book shows Haat +he UMP
test of Ho:)":}*o vs. Ha® M >Mo 1 simrly:

-gimi‘qu7) the UMP Ject of Ho: M= Mo s,
Ha: ML Mo 1S

-'However, -Por" Some l~7f>o-l~Lese.s) a. U MP test
does not exist.

e



i -Hae e,x«mrle az.\oOVQ, ‘H«efe 1S ho UMP
test for Hot p= My vs. Hat g po

W\’\i? Consider +he dwo-tailed =z-test.

T he wFrer-—‘f'-\fl z-test will have a
\Mjl\a ?owe,r -Func;h'on ‘Hr\aur\ i+ -&r cu«y

Ma > M, and the lower—tul z-test
will  have a L\ij@r }aowex Lineton Fhan
R any e < Mo

Picture :

—In -H«is c_ase_) no +e,s'\" Froc.&clwr‘e
\’\.&—9 bLV\l‘pDFMl\'L L\;jl,\e’s-l' Powe,r across

all wilees of M % po




